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But by the testimony of witnesses where we cannot say, etc.

OVERVIEW

X»n 27 taught (a '®n»n3) that if 0>7v partially contradicted a 9371 7913, the
2"m> will be required to take the oath of a n¥pna 77, We derive this from a
1"'p from (R"v7) n"2m. The X3 asked why it is necessary to invoke a 1"p? It
would seem obvious that just as the n"21 has to swear, similarly if the 27
create a n¥pn2 I8 he should also swear. The X i then cited the
explanation of 727 why a n"2m swears, and concludes that since this
reasoning of 1"21 does not apply to 7V nR7vA (so I would think that there
1S no 7¥12W 211 by 07V), therefore the 1"'p teaches us that there is a 7y12w 21°m
even by 2°7¥. Our mdoIN explains what specifically applies to a n"21m (that
causes the m12w) and seemingly does not apply to 2*7¥ (and therefore we
should not administer a 7¥12w), and why indeed there is a 712w 21°17 by 2*7Y.

The X773 states that by 0°7¥ NX7Y7, one cannot say -
— 2591 999V 115 VINPNYN 79 Y

So readily that he is merely evasive (as by nxpna 771); since he denied

everything, therefore -
— NOSHAYN 523 NIYN *HN5 Ny HunT 1922 N1ION

I would assume that since he is suspect to steal (by his 9377 1915 claim

against the testimony of 2°7v), he is also suspect to swear falsely, and we

should not administer an oath to him, therefore -
—SvInwn NP YVINNYNT 594 19T 9N RDT 9N 9P )9 yIWN NP

The 1" teaches us that by being a 5"> against 2>7y, he is not considered
a 3913 (or a X1k °wn), for the reason he lied is because &P "WANWN
vIanRnwn.

! See later »21 17" 790 &,7.

% A person who intends to repay the loan, but is merely stalling would usually rather be a "2 and not a
o"m95. See previous 17°212 7"'7 NvOIN (at the end). The fact that he was 2"m> indicates he has no intention of
paying back the loan. This, coupled with the fact that o>7¥ testify (contrary to his claim) that he owes the
money (and he has no intention of repaying it [for he is 5"m3]), should make him a 7713.

? He claimed that he owed nothing and the o>7v testified that he does owe (at least) partially.

* See “Thinking it over’ # 1.

> The discussion whether a X1aX TwWn is XNYIWK TWn or not, is only where we cannot say *wmnw X (for
then he is indeed a XX 7wn); however whenever it is possible to say *v1anw K, then he is not even a 7wn
X11MnK and certainly not Rny1awR 7wn. See end of previous 71221 7"7 'on that by a 3" there is *vMANWK.
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mooIn proves that even if one contradicts 0>7v he is not considered a 7773:
— MY YWD MY 999917

For one who denies taking a loan, even though 27V contradict him,

nevertheless he is still MTY® 9> (and not considered a ¥yw1), since we say “WIANYK,
and he really intends to pay back when he will have the money.

mMooIN anticipates an [obvious] question:

— 759y SN 0 199998 NI (8,991 1P 13999NRT 23 Y 9N)
And even though that the X713 rules later that we do not maintain that
since he is 7own, etc. X17mnX he is also XDY2AWK 7°Wn, but rather we maintain that
a RIMnX 7°wn is not XNIAWR 7°wn. Why therefore was it necessary for the Xin to teach us
through the 1" that in the case of X7 °27 he is required to swear (even though he may be
a X1k 7wn), for he is not a X1AAR TWwi; even if he were a X1 iR 7°wn he would still be
required to swear since X"noxn?!

mooin replies:
— AR 199 1591 9N 91 *13991N X917 *10unwuN Xann 0y 0YPN Yan

Notwithstanding the above, the Xin (of 11"7) also wanted to teach us that

we derive via a "' from X' 2 that we do not maintain that he is a Pwn, '°
but rather vnnwn Xp “vnwR.!

% This was the reason mdon refused to accept *"w°0 in 191 221921 (7"'7 'on).

7 See ‘Thinking it over’ # 3.

¥ In the previous 7°91221 71"7 MoOIN the question on *"w1 is how can you say that by »"2m it is necessary to
forewarn that he is not a X1vnX 7wn (for otherwise he would not be permitted to swear), when we know
that a X"roxn. Here m901n is not bothered by this. There we were discussing the 712w 211 of the 7710, The
rule is that R"nxn, therefore how can *"w explain that it is necessary to say v»nw» in order to explain why
the 71N tells him to swear, when no explanation is necessary since X"n?xn. However here we are merely
discussing why &1 171 mentions the V"'p when we already know that X"rn8n (or *vnwr). That is not so
difficult to understand, for even though the X 13 later tells us these rules, there is nothing wrong with the
X1n establishing these rules as well (since they are never clearly spelled out in a 71wn).

° The expression of MooIN that 117K K27 JPYRWR K17 03 2" 191 o MR KPT "9 3"YRY would indicate
that 1R X927 121 »"» means that we do not say R"nxn7 wWn. However this would (seemingly) contradict
what mpoI1n said previously “wnwRT 151 1"p 2"np'. Therefore many D°w19n explain that the R77 J1YnwR
111K means that he is not a 7wn. See following footnotes #’s 10 & 11.

19 Others (see 1"mR # 84) explain that 12K X?7 means that we do not say X"nxn7 n. This does not
necessarily contradict what maoin stated previously *vanwr7 "1 "'p 2"ap indicating that the 9"ap is
referring to *v¥ANWR and not to X"m28n. The resolution is that in the case of 1" the M? is not merely a 7wn
but actually a possible 1713, therefore it is possible that even if we maintain X"n%&n by a 7wn, this would not
apply to a *X71 121 (see 271 "na 7wn7 7"7 2,7 MoOMN). Therefore Moon states previously that he is not a 1713
"RT1 since there is the X720 of "vmnw k. [However the *vmnwX in this case is not so probable (as MsoIN
stated initially), therefore he may still retain the status of a 7wn, and the "»p from X"¥1 1°0 is that X"n78n.]

" The xan is teaching that even if we would maintain X"nXn7 13, nevertheless he would swear by nX7vA
0™7v since there is "0ANW K. See 7">w o"n.
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mooIn asks:
— 50INNWUNT RNIYOY TPIVEN SNHAN IINN ON)

And if you will say; why is the explanation of >v2nw>X necessary in order

to explain why we need a1"p -
— 07y NNTYNN NDIT) 129 HNRNN NN 71N 1IN TP IND IX Nn*Y

Let us say that if not for the Y''» I would have thought that his own
admission (of owing half) is greater (in making him liable to swear) than

the testimony of witnesses (that he owes half), and therefore only 1’0 swears and not
07y nXk7v71. The superiority of 1" NXTYT over O*TY DRIV is -
— ByanY 199919 ¥antna) Pawnana 1 19y oivn

Because by 15 n&777 there is no a1y qwnan (to nullify his admission);'®
however by 07w nX7v7 there can be anrm Awnd to nullify the 077y, as the
X973 asks later. Therefore only 15 swears and not 2>7v NXTV1.

On the other hand n1901n asks:

— 705nnwn 19Y 1999 NN 799129 7% 11N 33 1P
Later also the X713 should have challenged the 1" from ® by stating why
is there a 7v2w 210 by M» because by 1 there is the justification of
wIRNwWR, however by 07y nX7v7 there is no vanwn.

In summation: There are two advantages of 1°© NRT7 over 2°7¥ NX7YA. One is that by 1
he is v’»nwn (and not [so much] by 27y nR7v7), the other is that by 1 he cannot be
contradicted (through 1M Awnon) and 2>7Y can be contradicted. The X773 uses "VMANWK to
explain why if there was no 1"? we would not compare 2°7¥ to 1°9; and it uses 71 AW
to explain why the 1"p is not valid. m»oin asks that why did the X713 not use them in

"2 The X3 explained that if not for the 1"p we may have assumed that only 12 swears since he is vanw™,
but @7y nX7Y7 would not swear since there is no *vnwX. The question MoOIN is asking is that we could
have found another reason (which the X773 uses later to differentiate between 10 and 2°7¥) to explain why
the 1"p is necessary. Moo may be unhappy with the explanation of wnanw» for since we maintain X"no8m,
the concept of vNwn is not that relevant, as MooIN previously asked "1 TWRT 131 77K K27 1271 3"YR.

" awnon (which means denial) is in a case where a second group of 279 come and claim that it cannot be
(as the first o>7y testified) that the m> borrowed money from the mM%n at this time and place, when we know
that at this time the m? (or the M%1) was with us in a different place altogether. In the case of mwno: neither
testimony is accepted.

' ;17 is when the second group of 07y claim that the first group could not have seen the loan at the time
and place indicated; for at that time the first group of 0*7v were with the second group in a different place.
In the case of 711 the second group of 0>y are believed and the first group become m7v% 2105 and (in this
case) are required to pay the m> whatever their testimony would have made him liable for.

"% See later on this T1y.

1% Even if 07v would come and contradict his admission (whether through 7wn>i or 7n1), his admission
would be sustained and he would be liable to pay (and swear).

' See “Thinking it over’ # 4.
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reverse. We cannot derive 2°7v from 19 because of 71 nwon and it is not a valid 1"'p
since 1D is vNw» and not O*7Y.

N50IN answers:
— D7 NNTYIN N1 199 NNTINT YWINAY NNINT XINT 99Y v»

And one can say; that here where he is coming to explain that 1°» nX777

is greater than 237 NRTY:T (in the sense that only 12 should swear), the X3 -
— DIPNVNT NDYY VPIRY 7Y XA

Would rather mention the reason of vanwn» -
- ISD"W NNTYNA XYY 199 NNTIND YAV A DYLVNT NIN NI21DT

For it is logical that on account of this reason of vanwn that he should

swear by 5 nx737 and not by "’2°7¥ nX7¥:. That is why he mentions *vmnw X
concerning 2>7¥ NRTYVAA 1O DRI AT -
— 990 5P MNOY 11PY VPINY DY XN NNTN AYNIN IPNRY 1IN

And the stringency that 15 possesses that it is not ;7%21772Y wnona, that is

more appropriate to mention later in order to refute the y''p -
— X930 XY 999N 9P Y NI 79919 NI TIT 1Y

For this is the manner of the X923 to refute a 1''p from a X299 of law and

not merely from logic -
1 0MNYNT NI2D JNIPY 3191 NY T2

Therefore later the X2 does not mention the reason of wanwn» (which is
[merely] logic), but rather the X317 of 71 AwWnon which is a law.

SUMMARY

We could not derive a 712w by 2°7¥ nX7¥7 from the n"2m n»2w by 1°5, since
by 15 there is the X720 of *vANYW’XR but not by 2°7¥ therefore we would be
concerned that he is a Xny1awx 7°wn, and the 1"p teaches us that (even) by
7Y he is not a 7°wn since there is WMDY R there as well. The respective
responses of *WMNY X and 7T AWONn are appropriate for their respective
roles of negating a 72w and refuting a 1"p.

'8 Where there is the X120 of vnnwn (by 1) he swears, and where there is no X720 of vwnnwn (by nX7Vi
o°7Y) he does not swear since we can possibly maintain XNY12WX 7w X1 TWAT A0,

' However the difference of 7n1m mwann would seem to have no bearing on why 19 should swear and o7y
should not swear.

2% A 1"p teaches that if a law applies in a weaker situation it should certainly apply in a stronger situation.
We establish the 1"p by showing (in this case) that 15 is weaker in a 71377 sense than 0°7v (it cannot be 2>
01p). To refute the 1" we have to show that the so called weaker situation () is in reality (from some
perspective) stronger in 713771 than the strong situation (2>7v). If it is merely stronger in X120 it would not
refute the 1"p. See ('&77) 10w 7"7 8,7 7W17°R M0 [footnote # 5]. See [however] 7°m wol.
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THINKING IT OVER
1. nooIn writes that the 1"'p teaches us that he is not a 711 for he is vnnen.!
How can the 1"p teach us that a 3"m3 is vnnwn?!*

2. Is the flow of the X3 from 727 WX until 191 0°7Y NXTYI2 AR easier
understood according to *"w1 or according to mdoIN?>

3. moown asks™ that why is it necessary for the 1"p need to teach us that
(even) by 27V nX7Y1 he is vanWwn; even if he were not vAanwn he would still
have to swear since we maintain XNYAWR W X2 XK TWN. Seemingly
this is not understood. We indeed maintain that RN¥1AWR TwWH XY R1IADKR 7w,
however here he is not merely a 7°wn, he is liar (and if not for "vVNWX he
would be 1213 P1mI), so therefore the argument of X"n2Xn is insufficient and
we must say *umnwX. What therefore is m0In question?!”

4. mooin asks that later when the X773 is attempting to refute the 1"p (from
At mwnam) the X ma should have refuted it with the concept of wnnwn.”
How can mpoin entertain such a question?! The X720 of v»nwn is seemingly
not valid to differentiate between 2°7v and 1’9, because there is "0MNYR even
by 07y NRTYA as MooIN just stated!

2 See footnote # 4.

2 See (2wTn K"2v77 1 and) YaR 1"7 2 R
2 See 7'M

# See footnote # 7.

2 See n1"nx footnote # 77.

%6 See footnote # 17.
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